MOST & SCHNEID, P.C. 222 Bloomingdale Road Suite 302 White Plains, NY 10605

Invoice submitted to:

Allan Kassenoff c/o Dimopoulos & Bruggemann 73 Main Street Tuckahoe, NY 10707

Catherine Kassinoff c/o Harold Salant Strassfield & Spielberg 81 Main Street, Suite 205 White Plains NY 10601

August 03, 2020

Invoice # 23398

Professional Services

		Hrs/Rate	Amount
7/1/2020 - CWM Read and review of e	Review email from Gus	0.10 400.00/hr	40.00
- CWM Read and review of e	Review email from Catherine to Gus	0.10 400.00/hr	40.00
- CWM Read and review of e	Review email from Gus to Jill	0.10 400.00/hr	40.00
- CWM Read and review of e	Review email from Catherine	0.10 400.00/hr	40.00
- CWM Read and review of e	Review email from Allan and Catherine	0.10 400.00/hr	40.00
- CWM Telephone Call to Sus		0.20 400.00/hr	80.00
- CWM Read and review of <i>i</i>	Review Alasarro report	0.50 400.00/hr	200.00
- CWM Read and review of I	Review letter to court from Gus Dimopolous	0.10 400.00/hr	40.00
- CWM Preparatio	on on of affirmation	0.10 400.00/hr	40.00
7/2/2020 - CWM Preparatio		1.50 400.00/hr	600.00

			Hrs/Rate	Amount
7/2/2020 -	CWM	Appearance in Court Skye court appearance	0.50 400.00/hr	200.00
7/3/2020 -	CWM	Read and Review review of email from Allan	0.10 400.00/hr	40.00
7/5/2020 -	CWM	Read and Review review of email from Allan and Catherine regarding endocronologist	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Gus to Jill	0.10 400.00/hr	40.00
-	CWM	Read and Review review of emails from Allan and Catherine to Dr. Adler	0.10 400.00/hr	40.00
7/6/2020 -	CWM	Read and Review review of email from Catherine regarding endocronologist	0.10 400.00/hr	40.00
-	CWM	Telephone Call to Dr. Susan Adler	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Dr. Susan Adler	0.10 400.00/hr	40.00
-	CWM	Preparation preparation for trial; review materials sent to Dr. Abrams	2.50 400.00/hr	1,000.00
-	CWM	Read and Review review of email from Catherine	0.10 400.00/hr	40.00
-	CWM	Read and Review review of subpoena to Detective Pompilio	0.10 400.00/hr	40.00
-	CWM	Read and Respond to E-mail respond to email from Dr. Susan Adler	0.10 400.00/hr	40.00
-	CWM	Read and Review review of subpoena to Ravitz	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Catherine	0.10 400.00/hr	40.00
-	CWM	Email Correspondence email to Jill	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Gus regarding filing motion; Review of email from Gus regarding taxes (x2)	0.10 400.00/hr	40.00

		Hrs/Rate	Amount
7/6/2020 - CWN	Read and Review Review of email from Catherine regarding endocronolgist; Review of email from Gus to court; review of email from Gus regarding endocronologist	0.10 400.00/hr	40.00
- CWN	Email Correspondence email to supervised visitation regarding access	0.10 400.00/hr	40.00
- CWN	Email Correspondence email to Allan regarding endocronologist	0.10 400.00/hr	40.00
- CWN	1 Preparation preparation for trial	3.00 400.00/hr	1,200.00
- CWN	1 Read and Review review of email from Gus to Jill	0.10 400.00/hr	40.00
- CWN	Read and Review review of email from Gus to Jill regarding experts	0.10 400.00/hr	40.00
- CWN	1 Email Correspondence email to Jill	0.10 400.00/hr	NO CHARGE
7/7/2020 - CWN	Read and Review review of email from Susan Adler	0.10 400.00/hr	40.00
- CWN	Read and Respond to E-mail respond to email from Allan	0.10 400.00/hr	40.00
- CWN	1 Telephone Call from Allan	0.10 400.00/hr	40.00
- CWN	Telephone Call to Supervised Visitation (Carlos Maldave), left message	0.10 400.00/hr	40.00
- CWN	1 Read and Review review of plaintiff's motion	0.40 400.00/hr	160.00
- CWN	1 Email Correspondence email to Carlos Maldave	0.10 400.00/hr	40.00
- CWN	Read and Respond to E-mail respond to email from Carlos Maldave regarding visit	0.10 400.00/hr	40.00
- CWN	Read and Review review of Defendant's order to show cause	0.70 400.00/hr	280.00
- CWN	Preparation preparation for trial, listen to tapes	0.80 400.00/hr	320.00

		Hrs/Rate	Amount
7/7/2020 - CWM	Read and Review review of Ravitz report	0.50 400.00/hr	200.00
- CWM	Preparation preparation for trial - Dr. Abrams' testimony	0.50 400.00/hr	200.00
- CWM	Appearance in Court Skype court appearance	0.70 400.00/hr	280.00
- CWM	Preparation prepare for trial	1.50 400.00/hr	600.00
- CWM	Telephone Call to Allan	0.10 400.00/hr	40.00
- CWM	Telephone Call to Susan Adler	0.20 400.00/hr	80.00
7/8/2020 - JKV	Office administration Print motion	0.30	NO CHARGE
- CWM	Read and Review review of letter from Gus to court	0.10 400.00/hr	40.00
- CWM	Read and Review review of email from Susan Adler to parties	0.10 400.00/hr	40.00
- CWM	Preparation preparation for trial; emails with Gus and Allan	1.10 400.00/hr	440.00
- CWM	Preparation preparation of exhibit list	0.40 400.00/hr	160.00
- CWM	Read and Review review of email from McEvoy	0.10 400.00/hr	40.00
- CWM	Read and Review review of affidavit from Jill	0.20 400.00/hr	80.00
- CWM	Preparation prepare for court, complete exhibits	0.80 400.00/hr	320.00
7/9/2020 - CWM	Read and Review review of Plaintiff's witness list	0.10 400.00/hr	40.00
- CWM	Read and Review review of Defendaant's witness lists	0.10 400.00/hr	40.00
- CWM	Read and Review review of email from endocronologist	0.10 400.00/hr	40.00

			Hrs/Rate	Amount
7/9/2020 -	CWM	Read and Review review of letter from Gus to court	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Clemmons	0.10 400.00/hr	40.00
-	CWM	Appearance in Court Skype court conference	0.60 400.00/hr	240.00
-	CWM	Read and Review review of cases on heresay and neutral forensic report	1.20 400.00/hr	480.00
7/10/2020 -	CWM	Read and Review preparation of Temporary Order of Protection	0.10 400.00/hr	40.00
-	CWM	Email Correspondence email to Carlos Malave - supervision services	0.10 400.00/hr	40.00
-	CWM	Read and Review review of report from supervision services	0.30 400.00/hr	120.00
-	CWM	Email Correspondence email to Carlos regarding report	0.10 400.00/hr	40.00
-	CWM	Read and Respond to E-mail respond to email from Carlos Maldave	0.10 400.00/hr	40.00
-	CWM	Preparation prepare for trial	1.80 400.00/hr	720.00
-	CWM	Read and Respond to E-mail respond to email from Carlos Malave at Supervision Services	0.10 400.00/hr	40.00
-	CWM	Preparation preparation of exhibits to download	1.80 400.00/hr	720.00
-	CWM	Telephone Call from Viola at Supervision Services	0.10 400.00/hr	40.00
-	CWM	Preparation prepare for trial	2.80 400.00/hr	1,120.00
-	CWM	Read and Review review of resumes from Dr. Pogge and Dr. Chang	0.30 400.00/hr	120.00
7/11/2020 -	CWM	Telephone Call to Allan	0.70 400.00/hr	280.00
-	CWM	Preparation preparation for trial	4.80 400.00/hr	1,920.00

	-	Hrs/Rate	Amount
7/12/2020 - CV	VM Read and Review review of email from Gus to court	0.10 400.00/hr	40.00
- CV	VM Preparation prepare for trial	2.40 400.00/hr	960.00
- CV	VM Read and Review review of decision	0.80 400.00/hr	320.00
7/13/2020 - CV	VM Read and Review review of bj closing report	0.50 400.00/hr	200.00
- CV	VM Preparation preparation for trial - review all notes	0.90 400.00/hr	360.00
- CV	VM Appearance in Court Appearance at trial - morning	4.00 400.00/hr	1,600.00
- CV	VM Appearance in Court Appearance at trial - afternoon	3.00 400.00/hr	1,200.00
- CV	VM Read and Respond to E-mail respond to email from Michael Chiarramonte	0.10 400.00/hr	40.00
- CV	VM Telephone Call to Carmen Candalario	0.10 400.00/hr	40.00
7/14/2020 - CV	VM Telephone Call to Carmen Candalario	0.40 400.00/hr	160.00
- CV	VM Read and Review review of court transcript	0.80 400.00/hr	320.00
- CV	VM Appearance in Court Appearance in Westchester County Supreme Court	4.00 400.00/hr	1,600.00
- CV	VM Appearance in Court Appearance in Westchester County Supreme Court	3.00 400.00/hr	1,200.00
- CV	VM Preparation prepare for trial	0.50 400.00/hr	200.00
7/15/2020 - CV	VM Telephone Call from Dr. Susan Adler	0.10 400.00/hr	40.00
- CV	VM Appearance in Court Appearance in Westchester County Supreme Court	6.00 400.00/hr	2,400.00
- CV	VM Read and Review review of email from Carmen Candalario regarding Friday's zoom	0.10 400.00/hr	40.00

			Hrs/Rate	Amount
7/15/2020 -	CWM	Preparation preparation for court	2.00 400.00/hr	800.00
-	CWM	Preparation preparation for court	0.70 400.00/hr	280.00
7/16/2020 -	CWM	Telephone Call to McGuffog (left message)	0.10 400.00/hr	40.00
-	CWM	Telephone Call from Dr. Susan Adler	0.20 400.00/hr	80.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court - morning	4.00 400.00/hr	1,600.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court = afternoon	3.00 400.00/hr	1,200.00
7/17/2020 -	CWM	Preparation Preparation for trial	0.50 400.00/hr	200.00
-	CWM	Telephone Call from McGuffog	0.30 400.00/hr	120.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court (morning)	4.00 400.00/hr	1,600.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court (afternoon)	3.00 400.00/hr	1,200.00
7/20/2020 -	CWM	Preparation preparation for court	0.40 400.00/hr	160.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court	4.00 400.00/hr	1,600.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court	3.00 400.00/hr	1,200.00
-	CWM	Read and Review review of email from Allan and Dr. Susan Adler	0.10 400.00/hr	40.00
7/21/2020 -	CWM	Appearance in Court Appearance in Westchester County Supreme Court	3.00 400.00/hr	1,200.00
-	CWM	Preparation preparation for trial	0.20 400.00/hr	80.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court	4.00 400.00/hr	1,600.00

			Hrs/Rate	Amount
7/22/2020 -	CWM	Read and Review review of tape from Allan	0.40 400.00/hr	160.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court (morning)	4.00 400.00/hr	1,600.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court (afternoon)	3.00 400.00/hr	1,200.00
-	CWM	Preparation preparation for court	0.80 400.00/hr	320.00
7/23/2020 -	CWM	Read and Review review of email from Allan and Dr. Susan Adler	0.10 400.00/hr	40.00
-	CWM	Read and Respond to E-mail respond to email form Catherine to Dr. Susan Adler	0.10 400.00/hr	40.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court (morning)	4.00 400.00/hr	1,600.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court (afternoon)	3.00 400.00/hr	1,200.00
-	CWM	Telephone Call to McGuffog	0.10 400.00/hr	40.00
7/24/2020 -	CWM	Read and Review listen to tape	0.40 400.00/hr	160.00
-	CWM	Telephone Call to Allan	0.10 400.00/hr	40.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court	3.00 400.00/hr	1,200.00
-	CWM	Appearance in Court Appearance in Westchester County Supreme Court	3.00 400.00/hr	1,200.00
7/26/2020 -	CWM	Preparation preparation of closing statement; review of all transcripts	6.80 400.00/hr	2,720.00
7/27/2020 -	CWM	Email Correspondence email to Gus regarding transcript	0.10 400.00/hr	40.00
-	CWM	Read and Review review of email from Court	0.10 400.00/hr	40.00
7/28/2020 -	CWM	Read and Review review of email from Catherine to Dr. Susan Adler	0.10 400.00/hr	40.00

			Hrs/Rate	Amount
7/28/2020	- CW	M Writing complete closing statement	2.50 400.00/hr	1,000.00
	- CW	M Read and Respond to E-mail respond to email from Adler	0.10 400.00/hr	40.00
7/30/2020	- CW	M Read and Review review of email from McGuffog to Catherine	0.10 400.00/hr	40.00
	- CW	M Email Correspondence email to all counsel	0.10 400.00/hr	40.00
	- CW	M Read and Review review of email from Jill to Maria Baratta	0.10 400.00/hr	40.00
	- CW	M Telephone Call to Jill (left message)	0.10 400.00/hr	40.00
	- CW	M Read and Review review of email from court	0.10 400.00/hr	40.00
7/31/2020	- CW	M Appearance in Court Skype court appearance	0.50 400.00/hr	200.00
	- CW	M Email Correspondence email to McGuffog	0.10 400.00/hr	40.00
	For pro	fessional services rendered	127.50	\$50,840.00
	Additio	nal Charges :		
			Qty/Price	
7/7/2020		Printing Expenses printing of otsc filed by father	214 0.20	42.80
7/9/2020	dd	Thumb Drive	1 11.00	11.00
		Research Westlaw Research charge	1 32.39	32.39
7/29/2020		Copying Color copy charge for month of July	1,154 0.30	346.20
		Copying Black copy charge for month of July	750 0.20	150.00
	Total c	osts	_	\$582.39

Allan Kassenoff	Page 10
	Amount
Total amount of this bill	\$51,422.39
Previous balance	\$42,938.18
Balance due	\$94,360.57

Please review this bill carefully. Payment is due upon receipt. If you would like to discuss any part of this bill, please contact this office within 10 days of receipt. If no objection to the bill as presented is made by you within 10 days, it will be deemed accurate and correct.

If monthly payments are not made on an unpaid balance, we reserve the right to add interest as per our retainer agreement.

Any payments that do not appear on this bill will be reflected on your next billing statement.

WE ARE PLEASED TO OFFER THE CONVENIENCE OF PAYING BY CREDIT CARD. WE ACCEPT MASTERCARD, VISA OR AMERICAN EXPRESS. PLEASE CONTACT OUR OFFICE FOR MORE INFORMATION.